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NABARD ASSISTANT MANAGER

Test-1: General ﬁi_vgrenﬁs

1. Inthe present contexntol socio-eoonomic development, the
concept of “meeting the needs of the present without
compromising the ability of future generations to mest their
needs” is popularly known as the concept of

._E;,)-Eusuh:'nl-: Development 2] Uniform Ciromth

3) Target-driven CGrowth  4) Mo nisk-No growth

5} Social Viabllity

2 Which ofthe following staderments about ihe agrcu el
gector in the ceonomy of India 15'are corresi?

'__m Aericultural growth has reduced povery ol Lhe
people locally and, through its extemal effects, also
in many other parts of the country,

Food and nutrition security in the country has

- increased substantially.

{C) The area of cultivation has increased in recent past
a3 agriculurs has become o full-time emplovment
for the people, which was not so a few years back.

1) Oaly A 73 Only B 3} Only C

b Both A & B anly SiANAB&C

3, “Tn recent years it has been recognized increasingly that
a large sepment of the rural population i3 ot of the
reach of the formal banking services. Which of the
following s the name of the concept floated to bring
mast of thess rurnl persons in the net of financial and
banking services?

1} Corporste Governance inmncinl Inclusion
3) Wealth Creation ) Credit Managerent
) Risk Manapement

d  Aswe sl know, ithe present pattern of agrice [fural growth
has resulted i a wariery of envionmental degradation
of soil, water, air and bio-diversity, Which of the following
isfare the main practice(s) of the preseit pafiern of
agricultare, which has given birth to such degradation?

Excess use of chemical inputs in the form of
fertilizers, pesticides/meecticides snd boosters
bandonment of traditional practices bailt over

severnl millennia

#&r Continuous flogging of land through muliple
cropping

1) Only A %) Only B 3)Only €

4} Both A & C only IAB&C

£ As weall know, the per capita fo0d availability is far
better in the country these days and it has also reduced
odir dependence on impors of most of the focd com-

modities, Which of the following are the agriculiure-
related things for which weare still dependent on imports
Fargely?

(A) Whem ﬁﬂ'ﬂ%ﬂﬂr 48 Edible oils~) Pulses
13 Only A & B bath 2) Only C & D bath

I OnlyA,CED _ M OnlyB.C&D
SHIAIA.B,C&ED

B As we all know, migration of people from ose place
the other has alwavs been a tapic of laterest 1o
ecoiwan et and social sclentists, Which of the following
inagrations is called 2 historical one and is ofien referred
az “Mother of All Migmitions in the World™?

_platercontinenaal migration fram Europe to America

and beyand

2) Migration of agricultural Inbour from Bihar and UP 1o
various siates in India

3) Migration of Keralites to Gulf countries

4y Migradion of Gujaratis (o USA and UK affer the
cuthreak of plague, commanal riets, and several major
carthquakes in the s

£} Mone of these

7. Asper the recent research reports published in papers/
journals, more than half'of all child deaths are associated
with malnutrition, Which ofthe following is/'are the major
reasons of malnutrition in India?

F{g; Low birth weight because of poor nutritional status
of the mother

A% High levels of disease caused by poor hygienic
coaditions and polluted waier

A Impreper feeding practices

13 Only A 210nly B
AlA,B&C 5)Nooeof these

8 Theagre processimg sector in India has shown a posidive
growth in recent past. What is/are the major factors which
hasthave contributed 1o this growth in this secior?

y. There is a change in consumption pattem. Food
budget (3 allocated o high-value commesdities like
raw fruits, vegetables, hivestock, ste.

JE Growth in export demands for high-value and
processed food ftems. Hence more people ane taking
up that business.

More and more people are migrating to citles and
urban areas where demand for processed food is
kigh.
1) Caly A 2) Culy B
AIABEC  3) None of these

3)Only C

3)Only C
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9, The phenomenon of the decling, howsoever initiaied or
instigated, occurring in some measures of aggregaie
sconomic activity and causing cascading declines in GDP
and other key measures of economic activity in the terms
of economics, is called

1) terminal growth gl TECESSi0n
1) business cycle 4) deflation
5} doming effeet

10 As we all know, the the Govt of India has given much
atiention to improve public health @ the country. Why
is 0 much atténtion given to improve the same, which
in the opinton of the general public, B 8 personal goal
and should be an individual effon?

{A) Poor public health conditions take economic toll in
WArIHIS WIS,

Govit wishes to inwest in it because il winls 10
prevent diseases rather than reat theim.

(C) If the general heahh of the people in a country s
weak, investors do not wish to invest in that country.
Ewen toorists do not want to visit the land.

1)Only A 23Only B 3)OnlyC

DAINABEC 5) None of these

1L The Gowr of India is giving much importance o the
development of “Special Economic Zones™ these days,
Which of the following statements isfare TRLUE about
the features of the Special Economic Zones?

Special Economic Zones refer io areas within a
country where some of the economic laws and
resirictions of the land are relaxed.

(B} Special Fconomic Zones are being developed (o give
an opporfunity to the weaker sections of soeiety,
who did not have enough opporunities tw develop
finameially and economically.

(C) In Indis, the development of Special Economic
Zones started way back in 1980 when the first such
project was launched in Kamaiaka,

—HOnly A 2)Only B 3} Qnly C

HANA B&EC  5)MNone of these

12. Indai has several major dams almost 1a all stafes. Which
af the following wad'were the reasons for which these
damig were buile?

Flaod control and water supply
{#) Relocating the population
wﬁr Power generation
"Dy Trrigation facilitics
1)OnlyA&B 2)OnlyC&D _A3OniyA,C&D
§10nlvB.C&D 5) MNone of these
i3, 'Which of'the following is not a major concept frequently
refeered im the economic literamre of Dr Amartya Sen,
the Mobel Prize-winning economist?

1) Positive freedom ethics

3) Capability o function  4) Megative freedam

5) Welfars economics

14. Which of the following statements 18/are correct aboirt
the Pradhan Mantri Gram Sadak Yojana?

. The Yojana was launched in the vear 1935 with the
aim w0 connéct each and every village with the
National Highway.

DEI. The Yajana was to be completed by the year 2000,
But only 60% job hes been done so far.
The funds for the Yojuna were arranged by & loan
from the Asian Development Bank, which sanctioned
an amount of Rs 1,20,000 lakh crose thad time, India
has availed 35% of that amount but the job done is

amly 60%.
13 Only A 2)Only B 3)Omly C
§iAIlA BandC one of these

15. Which amongst the following organizations make major
credit palicies for the Regional Rural Banks (RRBs)?

et HABARD 23 Asian Development Bank
3) Wiorld Bank 4) Stare Bank of India
5) None of thess

16, As we all know, the Govi of India has launched many
schemes for the welfare of the workers from unerganized
sectors, As per receni estimates, abowt what por cend of
all workforce in Indin is engaged in informal or
unosganizsed secior?

150% A9 3)70% 4)ERy  5)60%

17. ‘Which of the following isfare true about the Indira Awss

Yojama of the Gowt of India?
A-The scheme was the sub-scheme of the Jawa* -~
Rozgar Yojana (TRY).
~~The scheme was launched to provide housing
aecommodation to rural peaple Balow Poveny Line
L) only.

- Under the scheme, the alloiment of the house {3 done
in the rame of the female members of the household
in the joint names of the hushand and wife,

13 Only A 2)Only B 3)Only C
ATANA, Band C 5) None of these
18, Aswe all know, the Gow gives enough emphasis on the

development of Small Scale Indusiry (551 Sactor, What
is the robe of the S81 sector in a developing economy like
Eredia?

A, 551 sector plays an important role m development of
economy 8% around 40 per cent of the GDP comes

frod this sector,
H, 551 absorbs surplus labour and helps in equitable
distribaetion of [neoine.
—emefpproximately 35% of wral exports of India comes
froen SS1 Sector.
1) Omly A 2)0nly B Ly €

fJAINA, BandC 5) None of these

19. Which of the following r not tue about the National
Rural Emgloyment Guarantee Act (NREGA) T
A, NREGA was enacted first to provide job to rural
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also avail the jobs under it
J&ﬂREﬂh is applicable in all districts of the country
F0,

C. NREGA initially provided 100 days' job bt now the
number of days has been increased 1o 150,

13 Omiky A, et UOnily B
1) Cnly C $HANlA BandC
51 Nene of these

0. Which of the following is not true sbout National Food
For Work Programme (NFFWTP) of the Govt of India®

ANFFWF was lapnched to prowvide sdditional

resgurces to the most backwerd 130 disiricis of India.

B. The beneficiary of the NFFWP is required fo work
far 5 days a week for at least 10 wesks at a stretch.

C. The beneficiarses of NFFWP are pald their wages in

1he form of wheat and rice for their work, The payment

of ration k& dene to them daily ae 6.30 pr or immediately

after the day's work is ower, which should be latest

by 9.30 prm.
L Only A 23Only B 3)Both Band C
4)Omly C %) Both A and B

21, Which of the following schemes is'are now the part of
the Mational Rural Employment Guaraniee Act
{NREGA)?

A Pradhan Mentri Gram Sadak Yojana
eaticnn] Food For Work Programnve
JesSampaomna Grameen Rozgar Yeojana
1) Only A 2)Only B ArBothBand C
A)AlA, BandC 5) Nooe of these

2 Micro eredit or micro finenee s 4 novel approach o
banking with the poor. In this approach bank credit is
extended io the poor through

) Self Help Groups

"’.;_ltmfmﬁﬁ Credit Societies.
4) Reserve Bank of India
5) Small Industrics Development Bank

23, Which of the following izs‘are the major problem{s) of

= rural machEaneasT :

J | an borrows yoar after vear bur i2 pot
in a position w0 clcar off his oans.

_’(ﬂl The size of the loans taken by the Indian farmer is
too large whereas his agricultural output is not lazge
enoagh to pay off his debt.

ast of the farmers arc still taking loans from the
informal spurves, who charge & very high rate of

2} Anganwadis

imieresi
1) Only A 2)Omly B 3 OnlyC
$0niyALB AllA B&CT
24 The concept of micro finance wis launched in which of
the following countries initlally?
FHangladesh 7)) India 3) Egypt
4) lsracl 5} 5ri Lanka

iy TF LKl G0 REIS BRI TR YTRIRN Bh PRSP0 SR ANERLINRERALIE L el

agency?

1) Cooperative Society oney | ender

3y Comimercial Banks Regioaal Rural Banks .
5) Governiment Agenches

26, The Mational Bank for Agriculrure and Rural
Development (NABARDY) gets some amount of s funds
from which of the following organizations For its various
schemes? ;

Jd ) World Bank  (B) Bank of America _geriDA
Dnly A 2) Only B 3) Only C
DNAINABEC Only A & C both

2. The Maitiona ank for Apricoliuvre and Rural
Development {(MABARDY) was established in the year
DI _JHS82  3)1977 4)1980  5)1975

28 Which of the following statements 15/are TRUE about
the activities of the NABARD?

| NABARD has the responsibility 10 inspect RRBs
,ﬁ and Cooperative Banks,
!@.H!.BARD maintaing Research and Developiment
- Fund w promote research in agricultere and mural
development.
(C) NABARD is a wing of the Planning Commission of
2)0nlv B

India,
_ABoth AL B
sialla,B&C

1) Only A
4)0nly C

22, The Union Budget for 1995-96 proposed the creation of
RIDF in NABARD, with & corpus of Rs 2000 or What is
the full form of RIDF 7
1} Rural India Decoration Forum
Z) Research and Industrial Development Forum

=it Rural Infrastructure Development Fund

4) Research and Industrial Development Fund
5} Nome of these

30 Which ofthe following statemends about the NABARD
15'are TRUE?

ﬁl{lﬁ;ﬂﬁﬂhﬂn dual role 1o play as it is an apex
and a refinanee instibuiion,

ABARD services as a refinance institution For all
kinde of production and investment eredii to
agriculture and cottage and villape industries,

(Cy NABARD accepis short-term deposits from the
public like any other bank to improve its capital base,
1) Cinby A 23 Only B 3}0nly C
lyA&B SHAINABEC
31 The head affice of the National Bank for Agriculiure &
Ruzal Development (NABARD) is located in
1) MewDelhi  2) Hyderabad urmbai
4} Lucknow 5) Naoe of these
32 Indiz’s first (ransgenic crop was
1) Sugarcans 2) Brngal —ad it Cation
4} Potato 5) None of these
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o & miajor isese in the mestings of the Workd Trade
Organization (WTO). What was the issue?

[} Use of genetically modified crops

Mg subsidy 10 agro-producis

3 M-ulmd of deciding cost of erude oil by OPEC

4) Use u-fh}h_drngm as allemative fael & fuetie
5y Mene of these
34, Who amongst the following is the winder of the Ramaon
Magsaysmy Award 20087
Fgrﬁahﬂh&ﬁliﬂlkini;ﬂm
} Dr Amartya Sent 3) Ms Barkha Dute
4) Dr MS Ahlawalia 5) Mone of theae
35. Which of the following is the organization, which is the
apex body in coopeérative sector and deals in
procurement, distribution, expart and impor of selected
agricaltiral commoditics?
SHAFED NINABARD
JIEXIMBank  3) MNone of these
35 Mahesh Bhwpathi and Sania Mirza won their first Grand
Stam Title together when they defeated their opponents

) SIDEI

in the

1) Wimbledon _gsAustralian Open
3} Davis Cup Final 4) US Open

5) Wightman Cup Finasl

37. Which of the following states in India is &t the top in
the list of these who avaifed credit through Sell Help
Ciroups (SHGs]?
1) Andhra Pradesh 2) Goa
4) West Bengal _erala

2B, Which of the following is the amaount Govt of Indis has
sanctioned 10 provide relief to farmers so that they may
come out of their debi?

3) Amnachal Prodesh

1)Rs 10,000cr  2)Rs20,000er 3)Rs3I0000cr
4) Rs 40,000 cr one of these

39, Which af the following is/are the goals of the Bharat
Nirman'™ g

wnmmuimummmmmmw

B) Topeovide cooked food to aboar 12 crore children
in thetr school itsell
A To conswruct 60 lakh additional kowses for the riral

paot.
1) Only A 2) Only B 1) Only ©
SArBathA&C S BothA&LB

400 Asowe all know, fload & & major nateral calamity in
Imdia. Which of the following statemenis isfare wue
sbout the varicus aspects of flood and flood manage-
ment in India?

A}] QOut of a total geographical area of 329 million
hiectare, about 40 million hectare is prone to flood.
B+ Till 2007, abaut 12 million hectare was provided

R L !

of embankments, drainage t}mm]a. and Faising of
platforms.

{C) Since the installation of & Mood forecasting gystem in
2004, no major Noeod has taken place m India.

1) Only A 2) Cnly B 3)OnlyC
ﬂﬁm.ﬁiﬂﬁuh‘ $)Only B & C Both
41. ich of the following is an casy way of providing credit

to the farmer community?

i B e

f#rl(iﬂnﬁcdrp[!uﬂ 2} Indira Vikas Patra
) National Saving Centificates
4) Loan aguinst gold 5) None of these

42, India recently test-fired 2 new surface-to-surface missile
icalled

1) Meghavarma  2) Columbus 1) Amariksha
4] Pawam i}ﬂmlm

43, The Summit of Leaders of the G-20 was organised in
November 2008 in
1) Paris ) Tekyo _;}WEhingtm DC
4) London 51 Milan

4 Who manongst ihe following i3 the author of the book
Berween the Assarsimplions?
1) Daielle Steel  2) Anita Desai _33 Aravind Adiga
4 Mandan Kibolkan: 5) Armadhat Boy
45 'Who amongst the following is the winner of the Jawaharlal
Mehru Award for Intemahional Understanding for the yenr
PC0 87 (The Avvard was given i Movermber 2008_)

I} Alberi Bayena ) Mallika Sarabhai
3} Dr Komila Thapar 4% Dr Moharmaned El Baradei
Hosni Mubarak

. Which film get the Golden Peacock Award in the 39th
International Film Festrval of India held in December 20087
1) Gosod Might 2} Alcasa Kusum
3) The Song of the Sparmow ___ddsl nlipan
5) None of these
47. Who amangst the following s the Union minister for home

affairs at present?
1) Sharad Pawar 2) Lalu Prasad Yaday Chidambaram
4) Shivraj Patil 5 Mone of these

48, Shivraj Singh Chauhan ks the new Chief Minister of which
of the following states, where elections were held in

December 20087
1y Uttar Pradesh ) Misoram 3) Delin
adhya Pradesh 5) None of these
MC Marykom, who won a gold medal for India in an
inbermationsal s event, is basically a
1) Table Tennis player 23 Hoer
3) Badminton player 4} Marathon minner
SyGolier

50. John Key, whote name was in the news is the Prime
Minister of
1) Australla 2) Unlted Kingdom
4} France S)New Zealand

3) Canada



Test-1I: English

Directions (Q. 51-57): Read the following passage
czrefully and answer the guestions given below it. Certain
phrases in the passage have been printed in bold to help you
locate them while answering some of the guesthons

Arvyone wivo forms his own opinions and beliefs will fecl that
he owes no respoasibility to the mojority for his conclusions, IF
he is n genuine lower of truth, iThe s inspired by a passion for
seeing things as they are and a detestation of holding ideas
which donet conform to facis, he will be wholly mdependent of
the acquiesce of thase around him. When he proceeds o apply
his belefs in the practical eonduct of life, the position is
different. There are then good reasons why his attitade should
bie less rigid. The sacicty in which he is placed san ancient and
composite growth. The people from whom he dissenis have not
come by their opinions and instifutions by a process of mere
haphazard, Theseopinions and cusioms all had their origin ma
ceriain real or supposed fitness. They have a certain depth of
root in the lives of 2 proportion of the existing generation. Their
fitness for satisfying nesds may have misplaced, and theis
congruity with one another may have come to an end. That is
only one side of the tuth. The most passionste propagandist
cannot penetrate o them.

in common language we speak ol a generation as
something possessed of a kind of exact uaity, with all its pans
and members homogenaous. Yet plainky it isnotthis, tisa
whole, but a whole in & state of constant flux, its factors and
clements are eternally shifting. It is not ong, but many
gencrations. Each of the seven apes of man is neighbour w0
all the rest. The column of the veterans is already sinking o
the |asi abwss while the eclumn of the newest recruidis s
forming. To its tradition, the tendency and its possibilities,
only a proportion of each can have merve enough to grasp
the banner of a new tnith and endurance 1o bear it along
mugged and untrodden ways,

Then we must remamber the subistance of which life is
made. We must consider what an overwhelming
preponderance of the mest persisient energies and most
eoncendrated interests of 8 sociedy nrust be absorbed betweren
miterial cares and the solitide ofthe affections. It is abviausky
unreasanable 1o lose patience and quarrel with one's time
because it iz tardy in throwing off itz institutions and beliefs,
and slow to achieve the transformation which is the problem
in froni of i, Men and women have o lve, The task for most
of us is hard encugh to make us well pleased with even such
imperfect shelter 25 we fnd in daily use and customs. To
intis on & whale community being made st once o subinit o
thie supremacy of new practices and ldeas that have jun begun
to acclaim themselves to the most advanced specalative
intelligence of the time. This, even if it wers a possible process,
would do much to make life impracticable and to hurry on
social dissolution.
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because they will
[¥retard the progress 2 |ead (o social disimegration
3) give vitality to social life
4) make a society 100 AXTOW 1o survive
5) None of thess
52 The hard task, sccording to the author, is o
{A) change the saciety
{B)eam aliving
{C) change according io times
NOnlyAandC 2)OnlyBandC  3)Only A and B
4) Onily A $)Only C
53, The problem, which is discussed in the passage, reflecs
1} the realist attitude of the author
2) the pessimistic views expressed by a group of people
3) o doctrine that explains the role of culture
4) meking good use of & genuine lover of truth
5) Mowe of these
34, Which of the following best describes the phrase "apply
his beliefs m the practical conduct of life” as used in the
passage’
I} To indoctrinate what he belicves
2} To denounce what he believes
3) To preach what is practiced
#) T~ practice what is preached
5) None of thess
55. According to the author, a gencration, which is
heterogencous, should be perecived as
1) sum total of the paris of the sub-sysiem
2} a whale, which i= not a total of the paris
3} a fragmented group of peopls
4) individual imterlinkages connecied through syncegy
3 Mone of these
56, Acconding 1o the passage, which ofthe following is true?
1) Impatience of intellectuals with practical problems is
the source of progress.
2y Day-to-day concerns dominate the life of most people.
3) Inteliectuals are the leaders of social rransformation.
4) Social change will be slow in the ahsenee ofefleetive
leaders.
5 None of thesa
57. According to the passage, from which of the following
dp the customs and traditions originaie?
1} Ignorance of events happening around
2y Leadership prevailing in the conenporary soclety
3 Social utility of the societal set-up
4) Conflicis of individuals living in society
5) None of these
Diyections (. 54-61): In each of the following questions,
an idicmatic expression and its four possible meanings are
given. Find out the correct menning of idlomatic expression
and mark the number of tlkat meaning as yvour answer in the
answersheels. 1N you do not lnd any eorrect answer, mark 5),
ke ‘None of these”, as your asswer.
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1) squandering away ) amounts {0

3} incurring 4} aking chance o meet
5] Mone of these

50, stand over
1) vindicate 2) postpone 3} enduring
#) support 5} Nane of these

60, knocked up
1) get exhausied 2) ddie i an accident
) wanderad about 4} sobd &t an auction
5) None of these

6], makeover
1} prave 2} decipher 3} discover
4) give in charity 5) None of these

61, workon
1) solve 2} influence J)excite

d)apply force 1o 5) None of these
Directions (Q. 63-75): Read each sentence to find out
whether there is any grammatical errorin it The error,
mﬁiﬂﬁhhﬂupﬂﬁ-nﬂhun{eﬂ:&mlmﬂ‘tﬁn
part is the answer. If there is no error the answer & 5L
(Ignore errers of ponciuation, If any.)
63, Selling peanuts fon the road is / the anly means of
1) 2) 3)
earning / kn respact of mast of the people.’ No &rmos
4 )
64, Her talk was / judped by many / as one of the mos
1} 2) 3)
important talks / given in the seminary No emmor
4) 5
6. The boy who was guilty with / having stolen the czll
1) )
phene [ came aut / with the truth, / No emor
3) 4) )
66. She is the teacher'whom [ know/has helped my sonfin
1) 2) 3}
the examination. No emror
4} 3}
67. You cannot demand | all yoor articles / unless you do not
Iy 1) 3)
{give advance notice./ Mo error
4) 5)
62 We ingisted, but neither / Jona nos her assisiant / are
1) 2)
ready to/ work on Sunday.” No error
3) 1) 5)
68, There is just nat enough / tme i my unit 1o sit round [
1) 2}
{alking sbout how we feel’ about each other, / Mo error
3 4) 5)
0. The act will be passed / with & comfortable majoricy ifall
1) )
f the partisans of / her group favours it. / No error
3) 4) 3)

75

———

i e T )
Tilak. / No error

2
An anti-terrocism cell is opened / by the town police /
1) )

thres months agoe fas a precautionary measure. No errar

The ll'?lil who was giving / d::ﬁihd description nﬁ the
sculpiures ﬁ:il ! speaking Nuently g‘fmﬂh { Mo ermor
L{uﬁi:lﬁ-muld. artesspt | m-::ln ﬂ-ewnhrelhhfa!m her
a;u:m:l::l 1I|mcd off / and fell dﬂm Wo errar

3} 4) 5)
If you had notireached so guickly, /we might wellhave
1 I 3)
had a disaster. No error
d} 1

Directions (Q. T6-85): Which of the phirases 1), 2), 3)

and 4) given bebow each sentence should replace the phrase
printed in bold type to make the sentence grammatically
correct? If the sentence is correct as it is, mark 5), le ‘No
correction reqaired”, as the snswer,

T6. She had created probiems even when she was on raiming

while she was still waiting 1o take full charge ofher duties,
1) she has been waiting  2) she had been stll

3) she would have stifl  4) she has still to wait

5) Mo correction requirsd

The director insisted on his orders being carried owt with
the letter.

I) forthe letter ) tothe letter  3) by the letter
4)into the leter  5) No correction required

He admired the speed with which Kofi complefed the work
ind appreciating the method adopted by him,

1) appreciate the method being adopied

2) appreciated the method adopred

3) appreciate the method of adoption

4) apprecinte the sdopting method

5) Mo correction required

Linless | get some break, | should not be ahle io do any
maore work,

1) shall noi be able 2) should be unable

1) shall mot be unable 4} should rot be unable

51 Mo correction requined

Some peaple haviea hatit of wearing thelr heart on their
sheewves.

1) bearing their heari on their siesves.

2} wearing heart on their sleeves.

3) wearing their hearl on slesves.

4) bearing their heari on their sleewe,

%) No correction réqiired,



Bl VOUF Plea Thal Yol Were INOMOUEn i nOrant o1 ine Conse-
guences can not be accepted.
1) hiad thosough ignorance
2} weere thorowghly ipnorence
3) hzd thoroughly ignoramt
4) were thoroughly ignorant
§) Mo carrection required
£2. [ had met him after the pariy where he had been given an
inspiring speech.
1) when he had
2} where he wonld have
3) in which be was given
#) whers he had
5) Ho comeciion required
#3. Because of scientific progress, we expect (o live better
thr_unrurpﬂrnmhj'.":-_
I} should expect to live better than our parent
) expect to live s good os our parents five
3) expect to live better than our paremts did
4} expected to live better than our parents
5) Mo correction reqgiiired
#4. [ cannot pat up witl that nasty fellow.

. 1) put up Zyputa
3) put on with 4) put up in
5) Mo camection negulned

B5 Itis useless to run away from every danper; risks must

ol be tken,

1) mo riaks must be

2} amy risk must be

3) although risks must be

4) some risks must he

5) Mo correction needed

Directions (), 86-90): In each question below, n sentence
with four words printed in bold type is given. These are
numbered as 1), 2);, 3) and 4). One of these four words may be
either wrongly speli or inappropriate in the context of the
senfence. Find ocof the word that s wrongly spelf or
inapproprisie, ifanyg The namber of that word is your snswee
If il the four words are eorrectly spelt and also approprinte
i the context of the sentence, mark 5), ie ‘Al corvect® a3
YOUF ARFWER.
. Afer severel rounds of discussions the Manager

1) 2)
accented 10 our propoetal. All correct
3) 4) 5)
$7. The indafatipable 22al and fenrlessness with which the
1) 2)
yeouith worked rejoiced me beyond measure. All comrect
L) 4) 3)
&8, He sliped sway in the night and reached there in the
1) 2) 3)
mornbng. Al correct
4) 5

WA FLE RN ROE ARTEE MG T VWA 2 WE Y LI TR SR S G 1R

1 2) 3) 4)
up her hand, All correct
3}
1, The auther also advoeated fresh vegetable and fruits as
1 2 )
naturel diet of aged peeples. All cormect
4) 5)

Dhirections: (Q. 91-100): In the following passage there
e blanles, each of which has been numbered. These numbers
are printed below the passage and against each, five words
aresugpested, one of which fits the blank appropriately. Find
out the appropriate word in each case.

It is & pity that we do not have good books on insurance
written by Indian suthors 21 to the steady growth of lteratune
of the subject in ather countries, especially the USA, whose
insurance laws and 92 are very much similar to those of our
country. And students studying in our colkeges and the millions
of insurance employecs apparing for various insurance
examinations have 1o depend 93 on books written by foreign
aathors. As these books muinly deal with the problems of
insurance industry of forcign countrics, the 34 of the
insurance scend in India and the various legal 25 and insurance
procedures remains very weak. To 96 the insurance employess
and the college students who have opted for 37 courses in
insurance with different aspects of theory and practice of
insurance, we hould have good and 98 rextbooks. The book |
under review written by VMR Nair himself, an experienced
and 29 expert on insurance law based on leading Indian cases,
will be found very useful by students of insurance sector as
2 100 guide o the principles of insurance,

81, 1) paving 2) cosresponding 3) following
4} emiphisize ) correcting

2. 1) process 2} produst 3} notes
4} currency 5} procedures

93, 1) slightly 2} upon 3)sull
djal 5} und]

o 1) prove 2) search 3)application
4) understanding 5) acknow|edge

o5 1law 2) aspects 3) experts
4) books 5) loop

06, 1)equip 2y i 3) decorate
4) promiots 51 load

97. 1)optional 2} expensive 3) tough
4) decp 5) specialized

98 1) authentic 2)voluminous  3)many
4) prompt 5) shining

95 1)consulting  2)qualified J)rich
4y merchant S)vired

100, 1) leamned 2) powerful 3) ready

1) comprehensive 5) prescribed



Test-111: Quantitative Aptitude

Directions (). ID1-105); Whai should come in place of
ihe guestion mark (7} in the following questions ¥

101, 37 = (756 = 67)+ B0

11185112 2) 250047 26981
4) 274825 5) None of thess

I 03I+34+33343343.03+333=1
1)375.066 2)34599 Harsas
4135556 5) MNone of these

103, (73425 - 33267 -22418- 176500 = .f] 1025 =7
1) 100 635 219783 E3T0
419450 5) None of these

04 76 =33+ 221 =T
1)-2387 2p=1934 P ET
) 19304 5) Mone of these

105, (34128 - /7396 =7
1310801744 210781474 3) 10781744
4) 10801474 5) Mone of these

Directions ((}. 106-110): What should eome in place of
the quesiion mark {7}in the following number series 7
106 13 25 40 130 ¥

1500 2)520 2400 43480  5) Nene of these
107, 186 4 &8 = iy

135 DI4E 3125 414 5) None of these
108, 124 1z ims 420 88 9
1)8568 2) 7140 33712
416150 5) None of these
108, 354 i | 7] M5 x 7
123 2§25 3)43
4)24 5) Mone of these
110.282 286 2 7 502
1)366  2j318  3)326 4338  5) Mone of these

Directions (0. 111-115}: Study the foliowing table
carefully and answer the questions given below,
Anmual Ineome of Various Individuals over the Years

(Income in T ac Rupees)
™o T Te LD TETS
2002 | 550 | 320 | 480 | 635 | 6.5 | 350
| 2003 | 5.65 | 325 | a85 | 655 | 6.25 | 3.5
| 2004 | 57 [3725] 295 | 7.155 | 6425 | 375
2005 | 620 [ 425 | sa0 ] 735 | a8 | 40
2006 | 650 | 450 | 520 | 7.40 | 725 | 435
2007 | 6.75 | 5.0 | 525 | 7.48 | 7.285 | 4.80
2008| 70 [ 535] 530 80 | 730 5.0

111, What iz the approximate average monthly incoms of A
ower the years?

1)Rs44,762 2IRs48.348 IR 531216
4} s 51,245 SIRs4Z 102
112, What is the mtio of the annesl inceme of B 1o that of C in
the year 20057
136:% 8.7 3}5:6
457:6 %) None of these

113, What is the difference between the tofal annual mcome
of all the individuals in the year 2003 and the total annual
incame of all the individuals in the vear 20077
I Rs 736,500 ) Rs 645400 3)Rs 6,530,500
4)1R=T7 43300 5) Mone of these

114, The panaal meome af E m the year 2004 1s approximately
svhat per cent af the iverage annudl income earied by B
over the years?

1)98 286 3) 88
)94 591
115. What is the average annual income of F over the years?
1)Fs 4,16,000 2iRs4.25 000
T)Rs 4,001,500 4)Rs4,15,500
5) Hone of these

116, Acha’s monthly income is 60% of Deepak’s monthly
mcome and 2006 of Maya's momthly income. What is
baya's monthly income (f Deepak’s monthly income 18
R= 78,0007
1)Rs 35,000 2} Re 42,000 3) R 36,000
4) Cannot be determined 5) Mone of theze

117. The sum of 5 numbers is 924. The avcrage of the first
wo numbers is 201.5 and the averape of the last tao
numbers is 196, What is the third mumber?

13133 2)129 Wiz

4) Cannot be determined 5y None of thess
@ In how many different waﬁsﬁn the leters of the woed

‘FINANCE® be armanpged 7

135040 22040 32510

44080 5) None of these

119. The profit carned afler selling o wrist watch for Bs 4,080
is the same as the loss incurred after selling the same

wrisi watch for Rs 3,630, What is the cost price of the
wrist watch?

)R 3,785 7} Rs 3,800

4)Rs 3865 5) None of these
120: I the numerntor of a fraction is inereased by 240% and

the denominator of the fraction is decreased by 5084, the

5
resulmnt fraction ﬂI-ZE . What is the original fraction?

IR 3,775

| 2 5
D3 23 Jﬁ‘ﬁ

5) None of these



LU LTS 0 DEE-0 T )E SIEUY LIE LR LI grEpn
carelolly and answer the gquestions below it
Number of students (males & females) passed out
from varioas eolleges in o year
(Number in thousands)
—— Fenules

e B L T

(im Lhousands)
soEREn é

MNomber of stndents

Cioll egex

121, What is the average number of students (Males &
Feamales) passed out from all the colleges togethes 7
138000 248000 42000
451000 5) Mone of these

122 The number of Fernales passed out from college C s
approximately what per cent of the total number of
Females passed out from all the colleges together?
)28 2) 30 3ia
£)25 3y40

173, Whai is the difference between the fotal number of
stadents passing oui from college A and the iotal mmber
of studenis passing out from college E?

1)20,500 2} 21000 3)10.500
47 710,000 5) Mone of these

L5, WY DIHA S EE FEpies il ARIS CUEHS ITLEEENOe il IEESEE IE e
total number of Females passed out from all the collepes
together?

1)19:23 21825
4)35:18 ) Mone of these

125, The nmber of Males passing out from colleges Aand B
wgether s what per cent of the number of Females
passing ot from colleges C and D cogether 7
D45 D40 IS H0 5) None of these
Directions (Q. 126-1300: What approximate value

should come in place of the guestion mark {7) inthe killowing

guestions T {Yop are not expected to calenlnte the cxact value,)

126 T428= = 12=T

3)23:18

256 2251 T 4T 566
127 152%0f 725 = 12.8% ol =7

HolI0  Z)9088 319100 4909 5) 9082
128 (36.1402- (21 282 =7

J888  2)BS3  )846  4)E71 5865
129. Y769 x/478 = 7

iz 2180 190 HH0 5%
A0 A06 062 05=T

413 2% NIE HIESI  5Hass

i

]3].451'!-'Eaf6ﬂ'$-iuf—5nfamrhjm.mhﬂ%ﬂf%

of that number?

1) 130 nirs 3360

4)350 5} Mone of these

131 The difference between a two-digit-number and the
auntber obtained by interchanging the two digits of the
number s 9. What is the difference between the two

digits of the number?

13 2)2 31

41 Cannot be determined 5y None of these
133, Inaclass there are 32 boysand 28 girls. The average age of

the boys inthe ¢lass is 14 years and the average age of'the

girls imthe class is 13 years, What is the average age of the

whale elass? (Rounded ofTto two digits after decimal)

[¥13.50 21353 3¥12.51

41342 5) None of these

Ins & test consisting of 80 questions carrying onemark each,

Arpita answers 65% of the first 40 guestions correctly.

What per cent of the other 40 questions does she need to

answer correctly 1o seore 75% on the entire west?

160 2)80 175

4340 5 None of these

135, Manisha invests an amount of Rs 39,300 for 4 years a
the rate of 4 pepa. What amount of approximate
compound interest will she obtain at the end of 4 years?
1)Rs 6,675 2} Rs 6,650 I Hs 6288
4)Rs6,356 SR 6450

[34.



LITECEIONS 107 I50=130)7 HINaY IRe 10I0WInE Tl s
earefolly and answer the questions given below (L
Price per kilogram (in Rs) at which 5 different farmers

sell 6 different prodocts
| Prod Farmers
F Q B 5

| Rks | M ]| 15 20.5 24
. Wheat | 18 65 | 13 15.5
| 1635 13 | 18 | 20
Bajra 15 i4 145 | 1358
Mage 13 14 & 123 § 12 |
Sogueane] 10 | & | 15| 105
136 What is the difference between the average price of per
kg ofMnize sold by all the farmers and the average price
of per kg of Sugarcane sold by all the farmers?
1)Rs3 2)Rsd5 3)Red 2 4)Rs3.6 3) Mone of these
137. What is the ratio of the total price (per keg) of all the

— | |
=Bl [{1]

prodiscts sold by Q 1o that sold by R?
1)41:43 2)43 148 1343 146
d4)dl =48 5y Mone of these

138. If farrmer Q sells 14 kg of Wheat, 21 kg of Jowar and 30
kg3 of Sugarcane, whae will be his wtal eaming?
1)Rs 659 2R TTY 3) Rs 630
4)Rs 788 5) None of these
139, If farmer P sells 50 ks, of Rice and farmer S sefls 60 kg of
Wheat, what i the difference in amount by either of the
farmers in selling their products?
Rs70 2)Rs 63
4)Rs BS 5) Mane of these
I 4. If each farmer 2ells 100 kg of Jowar and 50 kg of Bajra,
which farmer will cam the most?
P IR 38 430 T
Diirections (). 141-145): Stndy the I'bﬂnwh:u; graph
carefully and dnswer the questions given below i
Number of Students studying in Various Colleges from
Varions Faculthes (Wamber in thousands)

B Aris ESclence | Commeree
L)

3} Bs 50

um ber of stodents

ssBs&gzgg=2

Colleges

141, What is the difference bebween the tofa] number of students
studying in college H and that studyving in college K7
116100 2 15300 3) bE300
4) 16700 5} MNone of ihese

LR, W MAT IS I6E RO TIKITNDET O STHACTIS SOAay Ing i &1l (e

colleges ogether?
i) 520500 2) 52000 3)610200
4 510800 5} Hone of these

143, What is the ratio of the students from the faculty of
Seience from colleges H and | together (o the students
from: the same faculty from celleges J and K together?
1)43:45 2341 :43 Nd5:43
4143 :41 5) Mone of these

144, The numbser of studenis from the faculty of Science from
college [ is approximabely what per cent of the woaal
mimber of stdents swudying in that callege?

1)34 2337 e 4331 539

145. What is the average number of students from the faculry
of Commerce from all the ¢olleges together?
1)36825 2)38655 335625
4) 36585 5) Mone of these

146. 12 children can complete a piece of work in 21 days.
Approximately, how many children will be reguired 1o
complete the same piece of work in 15 daysT
1)24 14 22 817 5)20

147, Mangesh spends | 7% of bis moathly income on
travelling. Ha spends 23% of his monthly incame o
household expenses and 36% ol his menthly income on
medical expenses. He has remaming amowent of Rs 10,032
as cash with him. What is Manpesh's anmual ineome?
DDRs5S0300 Z2)ReS363500  3)HMs547200
4) Cannot be determined 5) None of these

148, The product of two consecutive even numbers is 3248,
Which is the larger nomber?
1¥58 26l 56 460 3) None of these

149, The average marks of 63 students in a class was
calculated ms 150, It was lnter realised that the marks of
one of the students was caleulated as 142, whereas his
actual marks was 152, What is the sctual average marks
of the group of 65 students? (Rounded off o two digits
after decimal)

D512 215015
4315019 5) Mone of theae

50 The sump of five consecuiive odd numbers 15 575, What

is the sum of the next set of the consecutive odd

315110

pumbers?
&S 21635 353
4) Cannot be determined 51 None of these

e C—

Test-IV: Reasoning

151. In & certain code DESPAIR i3 written 83 TFEQSIB. How

is MUMERAL written in that code?
NOVNFMBS  2NVOFSEM HNVOMFBES
41 HVOFMES 5) Mone of these

152, If it is possible to make oaly one meaningful word with
the first, second, sixth and enth letters of the word
DISCLAIMER, which of the fallowing will be the third



e made, pive "Y' &5 the answer.
1)1 2R 3D )X Ny
153, How many such digits are there in the number 27561493
each of which is as far away from the beginning of the
number as when the digits are arranged in descending
arder within the number?
1jNone 2)0ne  3)Two 4) Three 5) More than three
154, I vellow” iscalled "red”, ‘red" b called ‘blue’, ‘bloe' is called
“white’, “white" is called ‘black’, "black” iscalled *green’,
and ‘green’ is called “violet”, what isthe colour ofclear sio?
1) Green 2) Violet 3] Yellow 4)Red  5) Nene of these
155, It was 9.35 am in Rakhi's watch, which kept comect time,
when Reena informed her that the last bus left the bus
stop &t 9.25 am. Reena’s watch is 5 minutes fast. The
frequency of the bus is every 20 minutes. For how long
must Rakhi walt to cafch the next bus?
1) 5 minuies ) 10 miniites XY 15 milnutes
4)25 minutes  5) None of these
156, Which of the following should come nexi in the given
sequence of numbers?
24324312431 2243113243121
1)2 3 4 4)5 5) Nonc of these
157. How many meaningful English words can be formed with
the letters EDOM, using each letter only onee in each
word?
IjNooe 2)One  3)Two 4) Three 5) More than three
158. Four of the following five are alike in a certain way and
50 form a group. Which is the one that does not belfong
ta that group?
1] Mephew 1) Cousin
4) Brother 5) Sister
159, How many pairs of letiersare there in the word SECURITY
each ofwhich kas as many alphabets between them as there
are in the English alphabetical series?
1YNoae 2)Two 3) Three 4) Four 5} More than fous
10 e coriadn cocle STAR ks written as $5%2 and TORE dis
writfen & 3326, How 15 OATS written i that code?
1) 3%5% 2 InE3 J)IENS
4)35%5 §) None of these
Directinas (). 161-165): In each of the questions below
are given four statements followed by four conclusions
membered L IL T and 0V, You haveto take the glven statements
o e true even if they seem (0 be at variance with commonly
kmown [acts. Read all the conclusions and then decide which
of ithe given conclosions lagieally follows from ihe given
statements diureparding commonly Known facts,
6l Statements: Some doctors are lawyers,
All teachers are lowyers,
Some engineers are lawyers.
All engincers are busincssmen.
Conclusions: |.  Some teachers are doctors.
I Some businessmen are lawyers.

I[l. Some businessmen are ieachers.

3) Mother

4) Cmly 1l and 1V follow £ Mone of these
162, Simtements: All plastics are glasses.
Some sponges are glasses
All sponges are clothes.
Al clothes are liquids.
Conclusions: L. All Hguids aré sponges.
IL Some plastics are clothes.
L All glasses are plastics,
IV, All hguids are clothes.
1) None fallows 2) Omlly either 1] or IV follows
3) Only IV follows 4) Cnly Ml and IV follow
5) Mone of these
163, Siptemenis: All sands are beaches.
. All shores are beaches,
Some beaches are rees.
All trees are hotets,
Conclusions: L. Some shorses are hotels,
IL Al beaches ane shores,
L Zome beaches are hotels.
IV, Some sands ore trees.
1y None follows 2} Omly I follows.
3) Only either | or [11 follows 4) Only IV follows
5) MNone of these
64, Statements: All parmods are pigeons.
Some crows are pigeons.
Some sparrows ane crows.
All sparrows are koels.
Conclosions: 1. Some koels are crows.
IL  Some parrors ane crows,
HL Sorme sparrows are pigeons.
N Mo crow is & pamat,

13 Only T follows: 2) Only I follows
3) Ondy T and either 11 or [V follow
4 Omly edther | or 11 follows 5) None of these

165, Statements: All chairs are tables.
All tables are cushions.
Some cushions are trolieys.
All irolleys are lamps,
Conclusions: 1.  Some lamps are tables.
IL Some trolleys are chaim.
OL Some cushions are lamps.
N All chairs are cushions.
1) Onty | follows 2) Ondy [l and IV follow
3) Only eithes T or Il follovws.  2) All follow
5) None of these
Drirections (3. 166-170): Study the following information
carefully and answer the given questions;
A B, C D E FGand H are eight friends sitting around
& circular table facing the centre. A sits second to the left of
D, who is third o the left of E, C sits third 10 the right of G,
who is not an immediate neighbour of E. H sits third to the
right of B, who sits second to the nght of G
166, Whe sits between D and C?



167. Whe sits second to the right of E?

1B F 3)G 4C  5§Noneofthese
168, What {8 the position of A with respact o H?

1) Third to the left 2 Third 1o the right

3) Second to the: lef #rSecond 1o the right

5 Foarth vo e left

143, Foar of the following five arc alike based upon their
seating arrangements and so form a group. Which is the
ape that does mot belong 1o that group?

UCH XNFG DA 4HBE 35GB

170, Which of the following pairs has the second persen
sitting to the immediaie lefi of the first person?

NDBE DEH HNFA  HGD oite of these

Directions (Q. 171-175); These questions are based on
the following letter/number/symbol arrangement. Study it
carefolly snd answer the questions.

BHB2CEK T%SAISGD94UwC6H@EI]

7. How may such numbers gre there in the abave
arrangement each of which is immedistely preceded by &
consonant and also followed by o symbol?

I)Nane 2)One  3)Two  4)Three 5) More than thres

ITL. Which ofthe following should replace the quession mark
in the following series based on the above arangement?
ZEK, %Al G, 7
)&t Z)UCH
) R G 5) None of these

173, Which of the following is the fifth to the left of the seven-
teenth from the left end of the armongemient?

1}% HG A 4D 5)None of these

174. 1fall the numbers are deleted from the above
which of the following will be the vaelfth from the right
end?

D% 2K 3+ 4)C §) Mone of these

175. How many such symbols are there in the above
arrangement each of which is mmediately preceded by a

3)*CH

Directions (176-180): Read the following information
carefully and answer the quéstions, which Fallaw §

P+ " means "P iz son of G,

P x Q" means *P is sister of O,

‘P + Q" means ‘P is brother of Q.

P -Q" means ‘P s mother of Q.
176, How is T related 10 S inthe expression ‘T =R+ V + §'7

) Sister 2) Mother 3) Aunt
4) Uncle 5) None of these

iTT. How is T related to 5 in the expression *T =R+ WV -§'7
1) Father ) Sister 3) Daughter
4} Auni 5) Mone of these

178 How is S related to T in the expression *T + R— W + §°7
1) Uncle 2) Nephew 3) Son
4} Cannit be determinsd 5) Moo of these

179, Which ofthe following means thet 'S isithe husband of T*?
NTxR-V+8 2)T-R+V=x8§ I)T-R+V+§
T+R=YV+58 5)Naone of these

180, How is V related 1o T i the expression ‘T + R+ V « 87
1) Aunt 2y Nephew ) Nigce
4) Uncle 5) None of these
Directions (Q. 181-185): Ench of the questions below

consists of a question and two statemserts numbered [ and 10

are given below it You have to decide whether the data

provided in the statcments are sufficient to answer the
question. Resd both the stutements and

Give answer [} if the data in Statement | alone are
sufficient 10 answer the guestion, while
the data in Siuatement 11 alone are niot
sufficient to answer the question.

Give ansswer 2) if the data in Sintement I alone are
sufficient to answer the question, while
the data in Statement 1 alone are not
sufficient to answer the question.

Give answer 3) if the data in Statement | alone or in
Siatement [1 alone are suffieient fo answer
the question,

Give answer 4) if the data in bath the Statements [and 11
even wgether are not sufficient to answer
the question. ;

Give answver 5) 1f the data in both the Statements | and 11
together are necessary 1o answer the
duestion.

L8], How s A related to BY
L A is the sisier-in-law of C, whe is the daughter-in-

kaw of B, who is the wife of D

[L B isthe mother of A's son's oaly uncle's son.

182, Amongst A, B, C, D, E and F, cach arc having a differemt
height. Who is the shorfest?

L Cisshorter than only B.

IL A s talier than only Dand F

13, Point X is in which direction with respect to Y'?

L PoiniZ 5=t equal distance from both point X and
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ench tum leads to point Y.
184. How is “miist’ written in a code language?

L ‘you must ses” is written as “la pa ni’ and *did you

see” is written as “jo ni pa” in that code language,

I ‘you did ihai' is written as ‘pa s1 jo’ i that code

lenguage.
185, On which day of the week does Anti's birthday fall?

L Sonucorrectly remembers that Arti's birthday falls

after Wednesday but before Sunday.

0. Raj correctly remembers that Arti's birthday falls

before Friday but after Tuesday.

Directions (Q. 186-190): Below in each question are
given two statements [ and I1. These statements may be cither
independent causes or may be effects of indepeadent causes
OF @ eommaon cause, One of these statements may be the
effect of the other statement. Read both the stalements and
decide which of the following answer choiees eorrecily
depicis the relationship between these iwo statemenis.

Miark anewer 1) If statement | |2 the cavse and staterment

I is its effect,

Mark answer 2) if siztement [1is the cause and starement

| i= iz effect.

Mark answer 3) if both the statements [ and I are

Meark answer 4) ifbeth the stafernents | and 1] ane effects

ol independent causes,
Mark answer 54 iTboth the statements T and 11 are ¢fTecs
of some common caase
Computer education has been made compulsory for
all thie classes by many schools.
I The current job market prefers computer-literate
workforce.
The standard of education m evening colleges of
the State has been deteriorating.
IL The standard of school education has been fast
deteriorating in the State.
All domestic arrfines ircreased the fases in all sectors
with immedsate effect
IL Raitways increased the fare of all its classes with
immecinte effect,
The prices of fruits and vegetailes fell substantially
IL The quality of fruits and wegetables improved
considerably over the lust few days.
Receni floods in the area changed ihe nuoritional
conitents of the soil.

IL Farmiers inthe arca switched over to cultivating rice

instead of wheat,

Dhirectsons (). 191-195): In the following questions,
the symbals £, 5, %, % and @ are used with the following
meanlng o Mustrated below :

'A # B means *A iz not greater than B,

86 L

187. L

188, L

159 L

190 L

“A @ H‘mmuﬂ'aﬂ.ismtm:ﬂﬂﬂnnﬂ‘. 3

Now in each of the fallowing questions, assuming the
given statements to be true, find which of the two conclusions
[and 1l given below them isfare definitely true and give your
naswers accordingly.

Mark answer 1) if only conclusion | is tue.

Mark answer 2) if only conclusion LI is true.

Mark answer 3} if either conclusion | or 11 is true.

Inrk answer 4) if neither comclusion 1 mar 11 1S rss.

Mirk answer 5) il both conclusions [ and 11 are true.
191, Statements: A#B, B%C, C*D

Conclusions: L. C @2 A ILASD
192, Statements: P, Q@S S%R

Conelisions; L P @ R ILRSQ
193, Statements: Wk X, X#Y, YSZ

Conclosions: L W & ¥ W@z
194, Statements: GmH, HIL I1%K

Conchashons: L K & ILI& G
195 Statement: N@ M, M3IF PH#T

Conclosions: LTHMN 1L Par

Directions (). 196-204): Study the following information
carefully abd answer the given questions.

A, B, C, D, E Faond G are seven friends stadying seven
different branches of engineering, namely Mechanical,
Chemical, Electrical, Electronics, Civil, Computer and
Aeronautical Engineering, not necessarily in this arder, Each
of them studies in three differem colleges, X, Y and Z. Not
fess than two study in any college. D studies Electrical
Eng;nl:-ermg in College X. The ome who studies Chemical
Engineering does not study in callege Z. F studies
Aeronautical Engineering in college Y with only B. A does
niot study in college X and docs not study Civil Engineering.
E studies Computer Engineering and does not study in
college X. G studies Electronics Engmeering but ot i college
. None in college X studies Mechanical or Civil Enginsering.
196, Which of the following groups represents the persons

studying in college 77

1D,B ICEG A G
HGEA 5) Mone of these

197. In which of the following colleges does C smdy?
DX Y 1Nz

djEither X orZ 5) Cannot be determined
198. Wihich of the following combinations is correct?
1} A=Civil-Z 2} B-Chemvical-Y
3) C-Chwmical-Z 4) G ~Electronics -
5) None of these
199, B studies which of the following brunches of engineering?

I) Chemical  2)Mechanical  3)Civil

4) Cannot be determined 5) Nane of these
200. Who stiedies Chemical engineering?

)] ac JE

di A 1 Nrmie nf these



& | 7 4 A od 9 3 10. 2
i 1 IZF e 14s s
16 2; As per recend-repori 2008, sboul %%
of alf workforcs in lidia 18 engaged in infor.
il of uRgrgandged sereor

i7. 4

18. ¥; Smnll Scale Indusiries conlribule
mearly 40% shass i U W00 (ndazid ous.
jpul and 35% ghare in total exports of India

9.7 MW 1 I3 I3 3.5
4.1 Ml %3 212 2]
9.3 M.4 3.3 3] il 3
Aac i .1 M3 I35 34 5
.4  40.4 411 4113 41 1
4.3 455 S 4 4T3 L4
4.1 5k 3

£1, 2; The last senence tulks of “wcial dis-
solurion®.

52, 4; He=ifore mentioning “the fask for most
of i i hand enough”, e Eiihor ks abous
g 1he jociety iz slow in i3 transforme-
tian.

53. | The suther caudloss us bow guz 22al
for tremglermailon should ol blind us G0
the realilica thal exisL

&4, 4, "Bediefs™ are what one proeches. To
"apply” them i io prociise: isem,

B8, 3, The passage says: "l 1= mol ooe, bt
mafy generalions. Each of the meven ages
of man is neighbour 1o all the rest ™

58 ¥: Roal the sooond semtemex of the ihird
para.

£7. 3; The suthor says that thess onigmated
“imo8 cedain el oF Suppaddd INEEEE™ aad
ehen relages the fitness 1o *satisfying need®,
&K, 5 1 sonseiiing runr dowm, if loses power,
£9, 5, 1t mesns "io supervise or waloh
cliiedy".

&i. & |f something i keocked wp, it iz pres
pared guickly and withowi any special caze,
&1, & If vou mabr somelhing over o some-
body, you transhe W awneralip 10 e,

62, %; Examyple: His cherm doesn wark on me
3. 5

4. 3; Substibaie omer for aailks

65, 1; Substitute af

. 2; Subsritme wha

67. 3; Delese do mot

%, ¥, Substiluic is.

&4, 4, Substiise ome anorher

T, 4; Suhstitate favour

TL ¥ Swbstiute when

T8 1 Suhstifuis was.

78, 4, Subsiitoie fluent,

Ta. 1, Subslitufe wos mismpfing

&3
Ted! T2 T2 7RI W2
Bl.4 BEL4 £L3 B.5 B854

A&, o Thers are rwe wrong usspes: in (1)
the word several B misspell, and in (3) as=

- gahied shoull B¢ the RppTopriate word,

K7, 1; imdgfarigahle
E9. 1: laugher

. 1; slipped
. 4; emurgl

s ot
el | 2T
100 4 [ B4 J

102 5 Sam = 345 96
iod. 4 104, |
106, 5 The series =

WY w10, w210, 53=10, wd=-f0, w3+
1M eg.in=20. id="310

LOT. 1: The series 11 +2 +1

oS, 3

ri]
—z'-fl'II.B-.!

108, 1

109, % The genies i

3, 0, 27, R, -143
04 - M1 = 3]

LID. 4 The seres =

+21, w4 el 48, w100,

302+ 6% =302 + 36= 138
11, 4 Tiaal tneoms of & = 43,3 lakh

433
—_ 547
Monthly incomes of A== = Rs 5l

). 3 (36565 - 3005 |akhs
= Ri 6,35, 500

6425
. SRS 00T %
8 g

Toial income _ 2903
114, 1; Maya's monthly Encome
g2 100
T ———— =
B ™ e

=413 lkh

1t z
108, & M i mepsaled Lwice,
Hence the reguirsd answer will be

|

LY
!

Hobe

7 The Information Prowvided he

19, 4, —— =335 ¥
2 3y Lot nhe fraction be wiy
Thien
2
w1
1
3
DG L Yoo S, o
54 % 8 L -
1i9+498 310
130, 3; Avinags ™ 5"“""?“'

38
1232 nequx-mulﬂl

o i O MG
P

123 5 5.5 - 175 = 10
95 18

T418
oYy ——=1d=13%
i38. 3 6
117. §

128, 2, 3742 = |4.86

Bt b2 = n o B (b
wET e ld= A= 04+ A =5 =350

129 4, {768 =
+ATE =22

Quil=|PE =200
130, |

M S dninl

e o v bt

131 4
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Whte

l.-'."h': Enformation Provided hers 4

Somht bokchid &id Shodcd (1) HEnce I s
mol follow All sands sre beaches + Spme
beaches mme trees = A v [ = Mo conglusion,
Hence IY dozs nof follow,

L. 3, Seom Sparntravs Ang CTanss + DOME ¢ Pl
e pigeons = | + | = Mo conclusion. Hemee
[l does not fullow. Seene erows are pigesans
{1} == cosverslon ~» Some pigeons are oo
(1) Now, All pariols 506 pigeons + Some pe-
genmi aze crows = A+ | = No conclusion
Hemee Il does noe follow. Mor doss 1V Tollew.
However, conversion of Il Forms an 1-E
complementary pas with IV, Hence aitber 11

or T fpllgas Sems sparrows ke ctows (1) |

— CONNETSION —+ Some crows are Spamiws =
ALl aparrows are ket = 1 + A = | = Some
STUWS M0 Kpiks — Converaion —= Some kocli
are operws (1), Henee |

165, X Some cashions mre irnileys + All ol-
levs ore lamps =] & A= | = Some cozhicns arg
|amipa. Henge M follows. All chairs are mhics
= All iables are cwshioms = A = A = 4 = Al
chairs pre cushions. Hemce IV follows. All
fabedes are cushions + Soine cusheons asc lafmpd
= 4 + 1 = Mo conclusion, Heses | docs not
folkow, All cheirs are coshdons + Somp cmsh-
ioms mre frofleys = & + | = Mo coaclesion.
Hence [l does nod follow,

L&6-17T0;

mes. 1 1a7. 2

&K, 4
169, 3; In all eihers, dbe second perscn is
seonnad Lo ke right of the firgh

1. § IT0 322 ol 7

173 1; The corresponding elemeni nwoves
fiwve pisces forward in the Subssgecat gioup,
173, &, Sth oo ohe left of 17th from che lefy
= {17 =% =) F2il froen ibe fefi = |

174, I LIf all the numbers are deleted, the
ATAREEMICTL b my
FROER%ASGDURXCH@AI

1785. 4, F. © and §

176, 5;

TH—H*]—‘L-:F
Hemee T is the daughier of 5
179 L

Vi)

Tip—Ri+) &
178, &;

':i'{+]—ﬂ

& s either the nephaw or nsece of T.

178 3

Tl T{-T-’l* Nep—
V(+)—5 +)

{11 () ,
5 is nephew o niece of T, Abserd relatzonship,

Ti-pa=3(1)

L b R
a)
5 is hushasd of T.
W need il g Further
188, 1

R+ —W()— &

)

Homde ¥ &8 the aunt o T.

181 5, From 0: s m female.

Undmyg this im 00, we gei

B = madher of A's son's emly usele™s son

= mother of A's 20’ cougion

= motherof A's brotherandaw's wife

181, 4, Sutement ] gives o8 tie rwa talien
persans. Fence it is mot sufficizng. :
From [, edtker Dot F g the sheomisin, Henee 1
iz slvs mol sulTicient

{88, 3 Stmemant | s of ne use becuse wedon't
kmow the direstbons,

Etmement Il is oz ficient beconse distamces gnd
direciions have been given properly
184, | Stmte ment B2

s st see = In pa i (0
did vou sz = joni pa L )
From (F) and (il), vou goe = pa i
Wigingg (K b (1), we gev M = 4
Hemos T slons is s Ticien]

Hizan {1 |3 oot gven remeely coanectcd wilk
"must’,

185, 5 From 1: Ani'y bisbdey fills o0 Thu, Fr
ar Sal.

From [1: & falls on $st, Sum or Mon

- Liakk

alson in detarmanin g he ConfRedufih OF 80011,
1ET. 5, Thene se6ms 1o e 50emE ¢omenon Clas
gl ks lenlim g o detericracion in hoth kinds of
edlueati .

184, §; Hike in el prices seems 10/be the sam-
mee cEuEs.

L8R, 4: The rwe elTeets are anrslmed

i | The farmers decision is appasently an
eiTest of change bn the seil

100 1 ASE ik B =0 (i) O D (i)
Combining these_wo get A< B=C <D
Henee C 7 amnd | follows,

Meit, &= Dand heace [ (A& 5 ) doss aot fol-
ey,

L 4P (iyQxs (i S=R . (i)
Combining thepe, wegst P= 0250
Hees P = Boand 1Pz B dogs non fallew,
A, 180 end IR O dogi fol Tollow.
XWX (LXEY 0 Y=E. ()
Comb g theee, we el W < N2 Y > 2. Henos' W
mnd F can't be compered . B elvher | (W = X)
or I (W 2 ) must follow ps they foem a
complemeniary pair

190 5 G (i) H=T (i) =K _ (i)
Combining these, we gt GaH= 1=K

Henge K= 0 and § Rallows,

Algo, 1< G and [ Follows.

195. 2 NaM .  (M>P . GIEPET . (i)
From {{jend (i}, M =M =>Par™ =F ., (iv)
Hemes P < K and M olbows

Froas {iti) and (i), However, T and N ope e
campared,

Henee | does ot o llow,

196-200:
Friewml Cullege Mranch

A z bz minical

H ¥ Cad

c X Chemizal

2 X Elecimcal

B Fd Compuaier

F ¥ Acsirasical

G Z | Ecooncs
IRg.4 9701 1%A.% 1953 dob

[

=y
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